@A

VACUUM SERVICES, INC

Alcatel / Adixen 2010SD Major Repair Kit/ Rebuild Kit — Parts List

DESCRIPTION PART NO. QTy
ASB Lever 52700 1
O-Ring A320036 2
O-Ring A320067 1
O-Ring A320109 1
O-Ring A40005 1
Valve Spring A52541 3
Coupling A52553 1
Exhaust Valve A52655 3
Vane Spring A53040 6
2nd Stage Vane A65756G 2
1st Stage Vane A65757G 2
Sight Glass A65784 1
Sight Glass Gasket A65789 1
Exhaust Valve A65791 1
Gas Ballast Sleeve A65792 1
Module Gasket A65795 1
Gas Ballast Spring A65797 1
ASB Device A65798 1
ASB Spring A65799 1
Shouldered Ring A65846 1
Centering Pin A71040 4
Shaft Key A71067 1
C-Clip A71161 4
Felt Pad A20007 1
Flat Washer M4 A73339 4
Waved Washer M4 A73452 4
Waved Washer M5 A73453 1
Waved Washer M6 A73454 24




@A

VACUUM SERVICES, INC

Alcatel / Adixen 2010SD Repair Kit/ Rebuild Kit — Parts List (con.t)

O-Ring A79148 1
O-Ring A79509 1
O-Ring A79513 4
O-Ring A79537 1
O-Ring A82004 3
O-Ring A82007 1
O-Ring A82014 1
O-Ring A82022 3
O-Ring A82025 4
Viton Shaft Seal A82063 3
Double Lip Viton A82063-01 1
Shaft Seal
O-Ring A82125 1
Drain Plug A82604 3
Waved Washer A84646 1

A & J Vacuum Services, Inc.
790 Bloomfield Ave, Suite B3
Clifton NJ 07012 USA
973-249-0854



